A X y Y XxY W

Ax{y} Ay u v UxV cW
vxe A (x,y) W ax, y UV,
UxV. cW {U, |xeA} A X A
{U, | xe A} {le,---,UXn} U:LnJUXi V:ﬁVXi
i=1 i=1
u v Ay UchLnJ(UXixVXi)cW
27 X Y X xY -
L XxY vyeY
X x{y}= X 7, X xY
H W, X x{y}
y ' XxV, cW, XV, u
v, lyeY} Y WA
XszLr]J(XxVyi) X<V, 7
i=1
XxY U
1 [0,1]

[0,1]><---><[O,1]

n




BMD[xeX} X

{B(x,1), -, B(x,, D}
M = max{d (x, x,)|1<i < j<n}

VX, ye X 3B(x,1),B(x;,1) xe B(x,1),y € B(x;,1)

d(x,y) <d(x,x)+d(x,%;)+d(X;,y) <M +2

3 A R" < A

& Ac[-N,NT"

2.10 C,

(X,d) A X 5-  5>0

vxe X,d(x,A)<s [ JB(a,8)=X
acA

2.11 0>0 o—
H (.d) X e
@, (x)=sup{d(x,U°)[Ueu} ¢, X
2.3 Y7 (X,d) X el
?, M Lebesgue L(u)



2.13
2.5 X X  oX
2004 {1} [0,1]
5>0 [0,1] X, X X —X|<8
1, e{l,}
1 f:[0]] >R xr>sup{d(x,1,°)|ael}
f £(x)>0

5:%min{f ()| x [0,A]}

2 VxeX 0<68<f(x) | d(x,1,°)>6

(x=0,x+9d)c,

3 X =%|<8 XX (X—6,x+0)



